
 

Lecture 23

Midterm
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Warmup Put the quadratic fan exer
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2 4.3 7718

in Std form Use this form to compute the vertex
the x int and the range f 7
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std form of F
Vertex h K 43 81118

O Z X 113 81118
3 O X 113

Z 81 36

x 11312 81 36

3 X I 8 t 13
I 9 6 t 13

If a co C b le
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Section 8.1 Polar Coordinates

y
Motivation 14,3

X

Defn Polar words are pairs Cr 01 where 0 is an

angle wrt the X axis and r is a distance
from the origin



Exe 1 3 14 1 Ely

3 TIG 3 diff polar words that rep the
point
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C 3 5 16
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Rem Cartesian Coords gives left right and up down
u

x coord y cord

Polar Coords given direction and distance
a

O coord r word



EXE Convert from Polar to cart

y
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r i

i t
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sin O 3 r cos O 4 Ir
3 sin O 4 r cos O

Fact x rcosCO

y rsin O

Ex Cart to Polar

r 3 t 4

q 4,3 key
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Facto r 2 y2
tan O y x

X roos O

Ex Convert into Cart coords's
y rsin O

1 3 14 l cos 35 4 I sin 320 14

52 2 52 2

3 TIG 3 cosC TIG 3 sinC TCG

353 2 312
2 31T 2 C D 2 o 2,0

4,21T 4 cos zit 4 gin 2E
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Rem We can express eqn in X y ie in Cart as equi
in Cr O ie polar

Ex x y 9 r 9 3 r I 3
c u

Cx y I t y 93 Cr I r I 3
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circle of radius
3circle of radius 3

X y races O y r Sm CO

r costa rsin O

s r tanco locos CO



Ex 8 Polar to Cartesian x r cos O

y r sin 0
r 5 secco tan CO2 YA
3 f 5 cos O r X2t y
S rcos O X

5 X

r 7 sin O
3 r2 7 or sin O melt both sides by n

y 7 y
3 y 7 y O
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x Z x y 712
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49 4

circle of radius 74794 712

centered at 0,7 2

Ex 8 Convert the egg from polar to cartesian

r 5c.sc O 515in O

r sin O 5

y 5

Convert the egg from cart to polar8
2 1 YZ 2x X O X r cos O

y r sin 0
r2 2y D

tan CO2 YA
r2 2y r cos O O r2 2ty
r2 255th O x rcos O D



roos Ot t rsin O

rt cost r Sah 20

rt cos 20 sun O
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Review F g be two fans

fog Cfog Cx f g
x Composition

F g f g A f x g x Multiplica


